60

SRA/SRA2

TYPE SPRING RUBBER MOUNT

AZo| S4

SRAOI2ELE SRMAZZI 20K

r=

SHEl S UPGRADESH

ES JfEel 54 8 S
H|ZO|Ck SRPAZZNRMES 0|E5t0 2BEHES S0|5HA| 5tal 282 %[5t
BES B7H NE == UCh He| B7tA| 2 @A WS fI6te 28 EY0|
2ZE0IES Mestol Halptete WX(SD PNl Hel S15E Be 4 YEE
HA=|010F QUCE SRADREAMSHROE IR BRI AE EFAL eI
stexo= TAB10] 0|NZES WXISHD THISES KIE AR Tk,
HZEe 8=
- MH|8 7|7| % ZHH|4ZEIE(PUMP,AHU,FANS)
-, | b O GE Wl
- MRI 77|10 i
- 7|EH T Y AE|sto| TIS U BH| WEIg
=N
&Y
z
B
A
HZel 4
No. EY T2 RE ®\E:3
1 Upper Housing CR KS M 6617 2
2 Nut S5 400 KS B 1003 3 1
3 SRP PAD CR+SUP9 KS M 6617 D e
4 Lower Housing CR KS M 6617 Sl _E
5 Middle Plate S5 400 KS D 3503 2 i B T
6 Level Bolt S5400 KS B 1002 ©— L

DIMENSION & SELECTION GUIDE BY LOADS

. HasE Hio oy Dimension(mm)

A5 (kgf) (mm) (kg) A B C D H Level Bolt
SRA-100 100 0.64
SRA-200 200 0.66 116 89 84 13 51 M10 x 60
SRA-400 400 6.0 1.86
SRA-600 600 1.88 155 128 110 14 60 M12 x 65
SRA-800 800 1.84
SRA-2-100 100 0.82
SRA-2-200 200 0.86 116 89 84 13 85 M10 x 60
SRA-2-400 400 12.0 2.50
SRA-2-600 600 2.52 155 128 110 14 95 M12 x 65
SRA-2-800 800 2.60

(NOTE) 2 2] % Xl=== AlZe| s 9 EEIIS 2Ish AR ol glo] 17 & £ l&LCt



